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1. Where are the two speakers?

A. At a hospital. B. In the classroom. C. In an office.
2. What time is it now?
A.8:.35. B.8:05. C.8:15.

3. What does the man suggest to the woman?
A. To buy a new car.
B. To save her mdney for a long time.
C. To get a second-hand car.
4. What is John doing? A ,
A. He is waiting for the phone to ring. B. He is traveling by bus.
C. He is driving a car. .
5. When will Dick arrive?
A. During the weekend. B. Tomorrow. ! C. Within two days.
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6. Where is the father learning English?

A.In an evening school. B. In a college. : C. At home.
7. Why does he learn English?

A. Because he didn’ t learn English as a college student.

B. Because he is going abroad.

C. Because he has found his English is too limited.
8. In which languages could Karl Marx write?

A. German, French and Chinese. B. German,English and French.  C. Japanese,French and English.
WrsE 7 Bkl AR 9 2 11 8,
9. What can the man be?

A. A firefighter. B. A bodyguard. G T C. A policeman. )
10. What had happened to the man? . : g - ‘

A. He had been burnt. B. He had been hurt. ;‘




C. He had breathed in much smokp-.

11. What is the relation between the man and the woman?

A. Father and daughter. B. Wife and husband. C. Friends.
Wreh 8 Brbbht, BISS 12 & 14 /3, ' -
12. Where does the talk happen? ;
A.In a hotel. B. At an airport. - C.1In a post office.
13. Where does the man want to post the letter? .
A.To New Zealand. B. To Huang Gang, Hubei. C. To New York.
14. How many days does it take for the letter to reach N. Z. ?
A. Two days. B. About fourteen days. C. It doesn’ t tell us.

Wrss 9 Bedtkt, B48 15 2 17 [,
15. Where should the man get on the train?

A. At platform No. 3. B. At platform No. 4. C. At platform No. 5.

16. Is it the first time that he has come to Japan?
A. Yes, it is. B. No,it isn’ t. C.No,he isn’t.

17. Which of the following is WRONG?
A. The man isn’t a Japanese.

B. The ticket will cost him one hundred and thirteen yen.

C. The trains come every six minutes or so.

WrsH 10 Bkt ok, (2555 18 28 20 f,
18. What happened to Charles Chaplin?

A. He was shot by a robber. B. He was stopped by a robber. ~ C. He was threatened by his master.
19. Which of the following didn’ t the robber shoot at?
A. The hat. B. The trousers. C. The shoes.

20. What was the result of the story?
A. Chaplin got away with the money.
B. The robber rode away with the money.
C. Chaplin made his master believe him.

TSR (25 VB B/ME 1.5 4,759 7.5 %)
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Time l 9:00 a. m. , May 14,2006 | Place | On the way home from bank
: ' Age: 21 Height . 22
About the robber Face: 23 Nose : big
Hair; 24

The whole story

The man on his black motorbike robbed Jane Br;)wn of her
wallet with 25 yuan inside while she was riding
home with the money she had just taken from the bank.
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1. When will they go to Harbin?

A. This summer.
2. Where is Tom?
A. In the bedroom.

3. What will the man perhaps do next?

B. This autumn.

B. On the playgroud.

A. He will help the woman find Willin Street.

B. He will help the woman find her house.
C. He will do his own business.

4. What does the woman carry with her?
A. A handbag,a box and some books.

C. Some books and a handbag.

5. Which place hasn’t Sara been to?

A. New York.
FTH (15 ;BT

B. Beijing.
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C. This winter.

C. In the classroom.

B. A box and only a book.

C. Tokyo.

6. What’ s the possible relationship between the two speakers?

A. Husband and wife.

7. What can we know about the man?

A. He is a doctor.

UFS 7 BrbbRY, %545 8 % 10 M,

8. When does this conversation most probably take place?

A. In the morning.

B. He loves ﬁne.

B. In the afternoon.

9. Why is the woman going to give up biology“?

A. She isn’ t fond of the subject.

C. She is afraid she can’t pass the exam.

10. What can we learn from this conversation?

A. Miss. Defoe is in charge of biology.

C. The man asks the woman not to give up biology.

T 8 Brbf R, A5 11 213 1,

B. Teacher and student.

C. Doctor and patient.

C. He refuses to drink any wine.

C. In the evening.

B. She wants to take another course.

B. The woman won’ t take biology next year.




11. Which sport does the woman love?

A. Football. -B. Basketball.

12. What does the man feel about playing football ?
B.It’ s very difficult.

13. What will the woman do tomorrow afternoon?

A.1t’ s very boring.

A. Watch a football game.

WS 9 Bebb R, &SR 14 17 @,

14. Where do you think this conversation took place?

B. Play badminton.

A. In a department store. B. At an airport.

‘ 15. When should the plane arrive?

A.9:35.

16. Why was the flight delayed (%E3R)?
A. It had to make a stop in Chicago.

B.9:26.

B. The plane had engine trouble.

C. The weather in Chicago was bad.

17.Why was the man’s wife in Boston?

A. There was something Wrong with the plane.

B. She went home for a visit.

C. The dialogue does not tell us.
Wr 4R 10 Brihpt, 155 18 % 20 /A, .
18. What does a hobby mean according to the speaker?

A. It means making a lot of money.

B. It means the value of it.

C. Badminton.

C.It’ s very exciting.

C. Play a game with her husband.

C. At a cinema.

C.10:35.

C. It means the pleasure and fun brought to the owner.

19 What value can the match boxes collectlng bring to the owner?
B. No value at all.
20. Which of the following are the best ways to spend one’ s spare time?

A. A lot of money.

A. Enjoying TV play.

RV i E]

C. An active rest and a great fun. -

B. Collecting ancient coins. C. All above.
TR ITEE R (2 5 NS BN 1.5 53,89 7.5 5) i
W R E— Bk, ERRYERE HZR, AT Bl "P%’JEEUA\EE‘JF BLHEASEH, REEME, REH 90

The man

The woman

He works in Johnson International Center

She works as 21

His name .

Information about

223 What to fax 23
:  of the computers
His fax number 24 When to fax 25
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1. What did the woman want to do?
A. To have a close talk with the man.
C. To ask the manager for a job.

2. What do you know from the talk?

B. To give a job to the workers.

A. Boys usually have lots of money in the countryside.

B. Girls may be good at housework in the countryside.

C. It’s fair that the parents make such decisions.

3. What are the jobs of the two persons?
A. An engineer and a doctor.
C. A designer and a teacher.

4. What will happen according to the dla.logue’?
A. They will make a trip.

B. They will collect money for the poor children.

B. A designer and an artist.

C. They are going to be parents of a newly-born baby.

5. What job would the boy like?
A. To be a doctor.
ET(H 15 /8 ZNE

5 B AIEZ B IE] B E R A .
WS 6 BEARL, 445 6 % 8 M,
6. What does the man advise the woman to do?

A. See a doctor.

B. See a play.

B. To be a soldier.

1.5 4, %% 22.5 %) |
Wi S B RS . B BXHESI SRR JLA/ME , B R BT 4 B9 A B.C =4 330 ik ) B A 70,
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7. Why does the woman refuse the man’ s suggestion about this Saturday evening?

A. Because she has to work.

B. Because she will meet her old friends.

C. Because she has promised to look after an old friend.

8. When will they meet at the theatre?
A. At 7:30 next Monday evening.
C. At 7:30 next Saturday evening.

WS 7 Bobbkt, FIASE 9 & 11 [,

9. Where is the boy goiné to spend his holiday?
A. In the city. '

10. What will he do there?

A. Do some farm work.

B. Study at home.

B. In the boy’s hometown.

B. At 7:00 next Monday evening.

C. Abroad.

C. To be a teacher.

C. See a match.

C. Do some housework.
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11. Which of the following is TRUE?
A. The girl knows how to farm.

B. The boy’ s grandparents don’t live in the city.
C. The boy’s school is in the country.

Wrst 8 Brbbkl, [MI2558 12 = 14 1,

12. Where are the speakers?

A. On a sports ground. B. In a stadium. C. In a cinema.
13. What is the man’s seat?'

- A. Seat 11, the 19th row. B. Seat 11, the 6th row. C. Seat 11, the 9th row.
~ 14. When did the talk happen? !
A. Before the film began. B. When the film was on. C. After the film was over.

Wrst 9 Bobbl, 458 15 % 17 [,
15. What is the relationship between the people?
A. Headmaster and teacher. B. Teacher and student. C. Father and élaughter.
16. What reason did the woman give for being late yesterday?
A. She visited her grandfather.
B. She was ill and went to the hospital.
C. Her alarm clock didn’t work and the bus broke down.
17. What did the woman say about her grandmother earlier?
A. Her grandmother was going to have an operation.
B. Her grandmother had already had an operation.
~ C. Her grandmother was at home.
Wrsh 10 Bebbkt, 245 18 % 20 i,
18. What were the high femperatures for Friday in the state?

A. 85 to 90 degrees. B. 91 to 95 degrees. [ C. Over 99 degrees.
19. What is the weather forecast for Saturday evening? (

A. Tt will be clear. B. It will be cloudy. C. Tt will be rainy.
20. About what time should skies clear on Sunday? :

A. Around 10:00 am. . B. Around 3:00 pm. C. Around 6:00 pm.

SEMRR  WTERAS B2 5 AN NG 1.5 4% ,3%49 7.5 4%)
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How to Get Taxi Licence in London

Things to learn The sﬁeets, 21 , hotels and the quickest way to gét there
,/: Time it needs Years of study and 22, :
What to be examined | Quickest routes at 23 of the day
Spend time driving or . 24 around London, study the street
How to pass R e SO .
25 by heart - '
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1. How did the woman feel about the dinner? »

A. Chicken is good. B. Not very satisfactory.

C. Chicken is bad. :
2. What does the woman mean? .

A. She would like to go out for dinner.  B. She does not want to go to the concert.

C. She is bored with concerts. v
3. Where does this dialogue take place?

A. A restaurant. B. A grocery.
C. A drugstore.

4. Who is the man talking to?
A. His teacher. . B. His maid.
C. His wife.

5. Where does this conversation take place?
A. In an office. B. At a supermarket.
C. At a coffee shop.
F4T(HE IS ME;ENELS 45,59 22.5%)
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6. What will the boy do if he joins the army?
A. He must cut his hair very short. : B. He will only eat beans.

C. He must do a lot of exercise.

7. What is the advantage of joining the army?
A. He can cut his hair. B. He can learn a lot. C. He can have a rifle.
Wrss 7 Bttt &4 8 = 10 1,
8. What did the man blame air pollution on at first?
A. Cars. B. People. C. Factories.
9. Why did the woman dislike the man driving to work?
A. He missed a lot of exercise. B. He made traveling inconvenient.
C. He spent too much money on his car.
10. What is the probable relationship between the two speakers?

A. Boss and employee. B.: Husband and wife.
C. Worker and reporter.
Wrss 8 Bedtkt, [MI%4 11 & 13 3,
11. What is Elizabeth doing now?
A. Typing a letter. B. 'Typingvher paper. - C. Writing a paper.

12. Where is the man going? ¢
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A. To Paris. B. To London. C. To Liverpool. ‘

13. Who is Jane? \‘
A. She is the boss. B. She is a clerk. ‘ “
C. She is the man’ s girlfriend.

WrEs 9 BOAbRL, &S 14 2 16 &,

14. What’ s Gordon’ s problem?
A. He can’t find his office keys.B. One of his legs was broken just now. ' e l
C. He’s unable to talk. W
15. What favor does Gordon want someone to dp for him? ' l‘
A. Return the mid-term exams to his students.
B. Teach his class while he is absent. . ]
C. Go to the doctor with him. / ‘
16. Who is Mary?

A. A maths professor. B. A teaching assistant.
C. Gordon’ s neighbor.

WrSS 10 BobkL, 58 17 2 20

17. When does this lecture take place? , ' : ' |
A. In the morning. ' B. In the afternoon. v '
C. At night. - : |

18. Who is the speaker?
A. The headmaster of the university.
B. The director in charge of the courses. i ‘
C. A famous professor of the university.

19. How many ways to improve listening skills are mentioned in the lecture?
A. Two. B. Three. C. Four.

20. What is the main idea of the lecture?

A. The summer English Course.

B. How to improve your English.

C. How to improve your listening skills.

| et IR BE B (25 /NE;B/AIMNE 1.5 2, %9 7.5 5) e

WFF E— B, AREE E R, AR A IR E AR R AR, RSP, /A 90
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‘ Weather Reports
21 of the country Storms are reported
Roads 22 i
i i oads are ,two main roads are 2’."0 by
trees
In the south Heavy rains and storms
: ! o . In the east Quite a few areas have been 24 _
In the west Better, but four people nearly 25 in the flood
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1. What is the woman doing now?
A. Teaching at a school. B. Studying politics. C. Doing business.
2. What can we learn from the conversation?
A. The man hasn’t been to China.
B. The man is Chinese.
C. The man has ever been to the Forbidden City.
3. What does the man ask the woman to do?
A. Lend him her umbrella. B. Post a letter for him. C. Go to the post office with him.
4. How often do Johnson’s parents write to him?
A. Once a month. B. Once a year. - C. More than once a month.
5. What does the man want to do? :
A. Get a new job someday. - B. Collect information for his aunt.
C. Ask a lawyer to give him éome help. ¢
FIFH(FE IS B EIE 159,859 22.5 %)
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6. Where is the woman probably?

A. In America. B. In China. C. In Britain.
7. How much did the woman pay for the carpet at last?
A. 835 yuan. B. 72 dollars. C. 500 yuan.

UFE 7 BATRY, VA 8 % 10 18, |
14. Where does the conversation probably take place? ! ]
A. Atschool. B. At home. ' E
C. In the office. ' '
15. How many hours will the girl work a day? {‘

A2 B. 4.
G 6 ;
16. How much could she get in a week? : “‘

A. 24 dollars. ' B. 80 dollars. ‘

C. 120 dollars. | | : , |

VIS 8 BHTAL VA 11 % 13 .
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11. Why does Mrs. Wilson call Patty?
A. She wants to know if he is feeling any better.
B. She wants him to fix the heating system.
C. She wants him to fix the br(;ken pipe.

12. ‘What is Patty going to do tomorrow"\‘-?i~

A. Fix the heating system. B. Stay with his kids. C. Repair his car.
13. When will Patty come to Mrs. Wilson’ s house?

A. On Saturday. B. On Tuesday. C. On Monday.
WS 9 BebbRt, [mI&5E 14 2= 16 &,
14. What is the man going to do in the evening?

A. Take an exam. B. Study. 'C. Look for a job.

15; What does the man think of the coming exam?
A. Easy. B. Harder than the mid-term exam.
C. So-so.
16. What does the man think of his present job?
A. He is not content with it. B. It’ s the best one in the world.
C. It’ s the worst one in the world.
WiER 10 Bebh kL, [BIA 55 17 2 20 B,
17. What is special about Cuba?
A. Students do not pay for school.
B. Students study and do manual work at school.
C. Students work for tuition at school.
18. How often do students work at school? s
A. Every week. B. Every day. ; C. Every summer.
' 19. Which purpose is not intended by the system?
A. Developing good working habits.
B. Learning the importance of production.
‘ C. Training students to be experts in tasting vegetable.
20. Which statement is true according to the passage?
A. Students usually work on the land owned by the school. -
B. They plant vegetables;, fruits and crops.

C. In summer, all students go to help farmers.

P RS B (25 /MNE; |NE 1.5 5, %9 7.5 4)

W R E—BobbR, TARYER E ER, AUTEI A A PR R SR AR e RE P R

90 Fb 4y fEAB 1 |

During the Second World War, it was not easy to travel 21 :

Mr. Brown worked for 22 during the war.

The job that Mr. Brown did was 23 to most people.

One day Mr. Brown had to fly to 24 to give a talk.

Mr. Brown’s seat wds given to an important 25 :
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1. What does the man suggest doing?
A. Rearranging some furniture.
B. Selling the old table.
C. Buying another bookshelf.
2. How will the woman travel to New York?
A. By car. B. By train.
3. What does the woman mean?
A. She will go shopping.
C. She cannot go with the man.
4. What are the speakers going to do?
A. Pack a lunch together.
C. Have a walk trip at the weekend.

B. She will work with the man.

B. Come to work in the park.

5. What does the man mean about his job as an attendant (455 ) 2

A. He’s enjoyed his job.
C. He’s worked hard almost ten years.
FEITH(HISNE;EDMELS 9,85 22.54%)

WiF T S BOXEER . SEBOE S R A JLAN/IVE, I T4 A B .C SBT3 AR,
FARFERB MDA E . W7 B E S AT, ] BT B2 45 AV, 45/IMB 5 % 52 ) %/J\@J%*“tﬂ !

5 OB AR I IE] . 45 B E S E BE
Wrsh 6 Brbbkt, S 6 = 7 M,
6. When did the woman buy the new camera?

A. Last week. B. Last month.
7. What will the man do with the woman’ s camera?

A. Return the money to the woman.

B. Change a new one for the woman.

C. Have it checked ﬁrét.
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8. What is the éxhibition about?

A. New sports cars.’

9. Why does Bruce agree to go to the exhibition?

‘A. He wants to kill time.
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10. Where does the woman want to go?

B. Man-made satellites.

B. He’s interested in cooking.

. B. The exhibition is free.

(%)

C. By plané.

. Two weeks ago.

Model planes.

. He feels it useful.




A. The Town Hall. B. The East Town Mall. C. The airport.
11. Which two places are close to each other?
A. The East Town Mall and the Town Hall. : ‘
B. The East Town Mall and the airport. R ‘
C. The Town Hall and the airport. ; : .
12. What will the woman see on the way to her destination? 4
A. A big hospital. B. East Street. : .C. The Town Hall.
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 13. When did the traffic accident take place?

A. About 6 o’ clock. B. About 7:30. C. About 7:00.
14. Who was killed in the traffic accident?
A. Milton Green. ‘ B. Frank Miller. C. Jack Smith.

15. Where did the fire break out? |
A. At the corner of No. 104 Highway.
B. At the corner of No. 140 Highway.
C. At the corner of the 4th Street. ' ~ : L
' 16. Where did people learn the news? :

A. From the newspaper. ~B. From the Internet. ~ C. From the TV news. ' |
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17. What would you take with you if you are invited to an American friend’ s home?

A. Some large items. B. Some expensive items. C. A small gift.
18. What makes it more special?

A. Tea brought from China. B. Dish made in China. C. Chinese painting.

19. If you come with a group of people, what would you do?
A. You may buy as many things as possible.
B. You needn’t take anything with you.
C. You may take all you have.
20. What do the Americans think about the Chinese book marks?
A. They are expensive. B. They are lovely. C. They are special.
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Last summer I visited Mexico City to see the 21 in the museum there.

The language spoken in Mexico City is . 22 ¢

The manager of my hotel gave me 23 of the city.

~ The best way to get to the museum was 24 :

I went to the museum 25 at last.




